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Modern Physics (Phys. IV): 2704

Professor Jasper Halekas
Van Allen 70
MWF 12:30-1:20 Lecture
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Comparison to Last Year
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Qa: Relativistic Energy

total energy E = rest energy + KE
= (mc?) + (y—1)mc’

2
= ymec



Q2: Lorentz Transformations
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Q3: Conservation of Relativistic

Energy and Momentum w/ Photons
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Q4: Electron Diffraction and de

Broglie Wavelength

» The de Broglie wavelength of a particle 1s
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Qs: Compton Scattering

Compton scattering Recoil /
electron
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Q6: Uncertainty Principle
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Q7: Wave Packets

narrow wave packet
Ax

broad wave packet
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Complex Numbers

OKAY, ANYONE WHO'S FEELING
LIKE. THEY CAN'T HANDLE

THE PHYSICS HERE SHOULD
PROBABLY JUST LEAVE NOW.

e
ilf:ﬂlr
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Py

BECAUSE. TM MULTIPLYING
THE WAVEFUNCTION BY IS
COMPLEX CONJUGATE,

(

THATS RIGHT.

)

SHIT JUST
GOT AEAL.
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